Day 8 - Review.notebook January 07, 2019

Homework 7-7
1. 7/6 5 IV #9 - 12 see next slide

2. 4/9 6. |
3.4/13 7. 1
4. 1| 8. (-Xx, -y)
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Name: OKQ/%( Algebra 2 Homework 7-7

Period :

. Ifcos (B) = 6/7. then sec(B) =‘L._

| ¢ / g
Ifcsc (A)=9/4, thensin(A)y=___ | /

4
S

2.
3. [Iftan [A) =13/4, then cot (A) = __ /f3 _________
< | A
4. Ifcscl{A) » 0and tan[A] <0, then angle A must be in quadrant __ﬁ_ . . C.
5. Ifcos(A) >0 and csc(A) <0, then angle A must be in quadrant E .
(oo + St —
6. Iftan(A) = 0 and csc(A) = 0, then angle A must be in quadrant I .
(1 J8)
7. The terminal side of &, an angle in standard pasition, imerseﬂ_c_‘rs the unit circle at Pl—g,—-?J,
What is the value of sec(f)? (Regenis Question) (os S
1
(1) -3 3 - ( — —1
() 3 #3 (os(0) = 3
2 -8 g -2 S
8 3 Sec(©) = =3

8. If «@ isin quadrant | and passes through the point (x, y) on the unit circle, what would be the
coordinates of the points at angles (6 + ) €

T=1%0°
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#9-11: For the following problems, draw a sketch and find all remaining trig values.

9. sin(EIT—. ?bﬁd sgc@(%jto. ﬁ _ ~
" sin(g) = 2 5 cscl)=_" f)
cos(6) =7, sec(6)=—-

tan(0) 2[4 cot(e) = JA_B

b oy
10 cos(ﬁ]:% and cs;\((})>0‘ € ] ' JEN
| P et sin@)=_1/3  csc()=_ />
" cos(f) = 203 sec(f) = }3 b
e tan(@)= 1%  cot(9) =

1. cos(;):]_—g % ton(f%)to. m:
—3

o

~b| Ao

12. Given sin (6’) = % and & is an obtuse angle less than » radians.

d. Draw a sketch. .
b. Find the remaining frig values. sin(0) =

*c. Find @ in rgdians to the nearest tenth, COS(Q} —
tan() ="
m{O—
R mz = //d‘//‘).\‘-.. l‘ "\ e /7
- 0.‘2 L @ _ 77 / Q L .
*d. fr <@ < 3—?: how does that change your answersg d q ’Va,

gxgm—w oLt b
& =142 = Zf%.wﬁ
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Unit 7 Test Review
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@_abel the coordinates and quadrantal angles (in degrees and radians) on the unit circle.

2. If sin(#) <0 and cos (#) > 0, angle & would be in what quadrant?
3. If tan(x) > 0, then cot(x) is positive or negative?
4. If cos(B) = -.4 and csc(B) < 0, then 8 is in quadrant

5. If cse(8) < 0 and cot(B) > O, then B is in quadrant
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6. If & is an angle in standard poesition and its terminal side passes through the point

[ )
-

i == | en a unit circle:
1 1

2 —_—
a. What quadrant is the point in?

b. sin(6) = Gj N sin( ) @9‘ _ ]

T e =S

d. tan(8) = )
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7. Find the third side and the value of each ratio as a fraction.
A
a. cosA= b. tanC=
2b
c. sinA=s d secC=

e. ecsc A= f. cotC:= B 15 C
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8. Express in degrees: -

|

=

5

9. Express in radians, as a fraction in terms of T : 2500

10.

11,
a.

b.

300°

Sketch the angle, indicating the direction of the rotation by an arrow.

Find two coterminal angles....one positive and one negative.

-150°

Sketch the angle, indicating the direction of the rotation by an arrow.

Find two coterminal angles...one positive and one negative.

January 07, 2019
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12. If csc (B) = % and cos (8) < 0, find:

a.

b.

Draw a diagram in the correct quadrant

January 07, 2019

sin@ =
cos 6=
tan G =
sec B =

cot 6 =

13. If sin(B) = -0.6 and 6 is in quadrant III, use the Pythagorean Identity to find cos(8).

[
14. If g(x) = cos(x) - sin(x), what is g ’E ?
\2)

[ 8
15. JIf cos(B) = %_\fnd 8 is in quadrant IV, find cos(8-1).

ot

Can _
N (6T =

-\

>
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Unit 7 Test Review

1. Label the coordinates and quadrantal angles (in degrees and radians) on the unit circle.

] Tf—
?L__ﬂ;: R

-l.o, f'/ \ 1.2
e —||—I >0
e g u_’%f%j

O

. If sin (#) < 0 and cos (6) > 0, angle ¥ would be in what quadrant? _ ] [I

na

. If tan(x) > O, then cot(x) is positive or negative? k
+.

. If cos(G) = -4and csc(e) < 0, then 8 is in quadrant jI )

w

~

o,

. If cse(®) < 0 and cot(8) > O, then B is in quadrant l .
S, {-ww -+
6. If 0 isanangle in standard position and its terminal side passes through the point

/\[5'12

on a unit circle:

L\ 272) = :
¢ Su. What qucd{r_jgg’r is the paint in? ] !:
b, sin@®)=___ /3
c cos(6) = - -
' i I3

d. tan(@) = _— 1 <~ ’/{%_—2/

e. m<8-= /55 “
K= sl "77’2) 45°
@ = 180 -¢5-/35° .

7. Find the third side and the value of each ratic as a fraction. X 5 =25

s S 5
a. cosA= E:)b b. tanC-= 2/45 ’ ‘[‘\‘\ 1}9.45 «f;;
c. sinA= I 6 d. secC:= 0?57 X I; 2 X <L
. 0 :

e. CSCA= ;/ cot C = zd—O B 5 C

TO1

January 07, 2019
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. Qx I jst - | O
8. Express in degrees:  -—/ 7 -
9. Express in radians, as a fraction in terms of T : 250 C \ 5 a
180,/ /&

10. 300°
a.  Sketch the angle, indicating the direction of the rotation by an arrow.
b.  Find two coterminal angles....one positive and one negative.

p
JO =300 = ©0° LN
3001300 = (pl0° :

11, -150°
a.  Sketch the angle, indicating the direction of the rotation by an arrow.
b.  Find two coterminal angles....one positive and one negative.

)50 7300 = A)0F </
450 -360 = 570° e *

12. If csc (B) = —= 7 and cos (6] <0, find:
Y and cos (©)<0,find 7]

%‘eﬁw a diagram |rL1 the correct quadrant W/?/&;\\

b. sinB= /f7 “SV
¢ cose="’5’/|'7 _ l ]7

> 2 Z
d. tan®-= 2’/5’ ¢ X =17
iy LY+ X T=A5F
e. secB= -~ 17//5 p 2905
f. cote=5fg X< /5

13. If sin(@) = -0.6 and G is in qucdr%sa the Pythagorean Identity to find cos(8).
SO ces- 0= @9;;’*(9 . F

N+ tosO=1 cas®S = *,¢
(1)3(1) Feos T =1 AL - CUSQ @

14. If g(x) = cos(x) - sin(x), what is g| ’ﬂ

r"i

(32 cas(}, "‘w’“( )O gy Fﬁ'ﬁ&”&/g;(’

15, If cos(@) = 3, and 9 isin quadr'am' IV, find cos(@-r). A o
=S

~ QJE

) N
S~

TQ2

11
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